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�D54<E?>6<5 

 

1. $47D45>F4=O 6 $545D4?L=>< 7>EG44DEF65==>< 5N465F=>< GGD5645=<< 

«�>EG44DEF65==O= =4GG=O= F5=FD $>EE<=E>>= $545D4F<< 3 $545D4?L=O= 

<54<F<=E><= 5<>D<7<G5E><= F5=FD <<5=< �.�. �GD=47O=4» ($��' ��& $��& 

<<. �.�. �GD=47O=4 $��� $>EE<<): 

75=5D4?L=O= 4<D5>F>D 3 4-D <54. =4G>, ?D>D., G?.->>D. $�� �.%. %4<>=?>6, 

?5D6O= 74<5EF<F5?L 75=5D4?L=>7> 4<D5>F>D4 3 4-D <54. =4G>, ?D>D. 

�... �GL<4=>6. 

2. �E?>?=<F5?<: 

75=5D4?L=O= 4<D5>F>D 3 4-D <54. =4G>, ?D>D., G?.->>D. $�� �.%. %4<>=?>6; 

74654GNM<= ?45>D4F>D<5= M>E?5D<<5=F4?L=>= E?>DF<6=>= <54<F<=O &%�<$ 3 >4=4. 

<54. =4G>, 4>F. �.�. �5FD>64; DG>>6>4<F5?L &5=FD4 E?>DF<6=>= <54<F<=O < 

D545<?<F4F<< 3 �.�. %4=; 74654GNM<= >F45?5=<5< E?>DF<6=>= ?E<E>?>7<< &%�<$ 

3 >4=4. ?E<E. =4G> %.�. �474DO=; DG>>6>4<F5?L &5=FD4 >?<=<G5E>>= =5=D>D<7<>?>7<< 

< =5=D>DG=>F<>=4?L=>= 4<47=>EF<><, 74654GNM<= >F45?5=<5< >?<=<G5E>>= 

=5=D>D<7<>?>7<<, 6D4G =56D>?>7 3 4-D. <54. =4G> �.�. �>6>>4DG; EF4DL<= =4GG=O= 

E>FDG4=<> 3 �.�. ,G?5?>6; <?44L<= =4GG=O= E>FDG4=<> 3 �.�. %4?>6.  

3. � =4EF>OM<E D5>><5=44F<OE D54?<7>64=O FD55>64=<O $545D4?L=OE 74>>=>6 

$>EE<=E>>= $545D4F<<: 

- >F 21 =>O5DO 2011 7. 7 323-$� «�5 >E=>64E >ED4=O 74>D>6LO 7D4644= 6 

$>EE<=E>>= $545D4F<<»; 

- >F 04 45>45DO 2007 7. 7 329-$� «� D<7<G5E>>= >G?LFGD5 < E?>DF5 6 $>EE<=E>>= 

$545D4F<<». 

4. 'F65D645=O 'G5=O< E>65F>< $��' ��& $��& << �.�. �GD=47O=4 $��� 

$>EE<< (?D>F>>>? >F 31 >>FO5DO 2024 7>44 7 1473). 

5. �6545=O 6?5D6O5. 
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�6545=<5 
 

� ?>E?54=55 6D5<O 6 ?D>D5EE<>=4?L=>< E?>DF5 =5G>?>==> D4EFUF 75>7D4D<O 

<5EF ?D>6545=<O E>D56=>64=<= (�?<<?<=E><5 <7DO, G5<?<>=4FO �<D4, 

>><<5DG5E><5 FGD=<DO < 4D.). -F> FD55G5F >F E?>DFE<5=>6 G4EFOE 4?<F5?L=OE 

FD4=E<5D<4<>=4?L=OE ?5D5?UF>6 6 D47?<G=O5 >?<<4F<G5E><5 7>=O. 

� 44==OE <5F>4<G5E><E D5>><5=44F<OE ?D<6>4OFEO E6545=<O > >D<F5D<OE 

4<47=>EF<>< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6, <5F>44E 4<47=>EF<>< 

< <54<>>-5<>?>7<G5E>>= >>DD5>F<< MF<E =4DGL5=<=, 6O764==OE E<5=>= FD5E < 5>?55 

G4E>6OE ?>OE4, G E?>DFE<5=>6 =4 MF4?4E E?>DF<6=>= 45OF5?L=>EF<. 

� <5F>4<G5E><E D5>><5=44F<OE D4EE<4FD<645FEO 4<47=>EF<>4 >E=>6=OE 

E<<?F><>6 (E?5F<D<G5E><E >D<F5D<56 444?F4F<< > 45E<=ED>=>7G), 4 <<5==> 

=4DGL5=<O E=4 < E>>F=>L5=<O «E>= - 5>4DEF6>64=<5»; 4 F4>65 ?D54?4745FEO G4>5=O= 

< E>6D5<5==O= <5F>4 <E 4<47=>EF<>< E ?><>MLN D<F=5E-FD5>5D>6. 

� <5F>4<G5E><E D5>><5=44F<OE ?D54?4745FEO =45>D <5F>4>6 

=5D4D<4>>?>7<G5E>>= < D4D<4>>?>7<G5E>>= >>DD5>F<< ?D>O6?5=<= 45E<=ED>=>74 < 

?>445D6>< >?F<<4?L=>7> GD>6=O DG=>F<>=4?L=>7> E>EF>O=<O E?>DFE<5=>6 ?D< 

?5D55745 6 <5EF4 ?D>6545=<O GG55=>-FD5=<D>6>G=OE E5>D>6 < E>D56=>64=<=. 

� G<E?G 6>?D>E>6, D4EE<4FD<645<OE 6 <5F>4<G5E><E D5>><5=44F<OE, >F=>EOFEO 

D5>><5=4>64==O5 ?D>7D4<<O <54<>>-5<>?>7<G5E>>= >>DD5>F<< =4DGL5=<= 

F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?4E GG55=>-FD5=<D>6>G=OE E5>D>6 

4?<F5?L=>EFLN 4> 1 =545?<, 2 =545?< < 5>?55, 4 F4>65 =4 MF4?5 E>D56=>64=<= 

?D>4>?6<F5?L=>EFLN 4> 3 4=5=. 
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2. � 4>>G<5=F5 GEF4=46?<64NFEO >E=>6=O5 FD55>64=<O > 4<47=>EF<>5 < <54<>>-

5<>?>7<G5E>>= >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?4E 

E?>DF<6=>= 45OF5?L=>EF<. 

3. �5F>4<G5E><5 D5>><5=44F<< ?D54=47=4G5=O 4?O 6D4G5= < E>FDG4=<>>6 

GGD5645=<= 74D46>>ED4=5=<O, >>F>DO5 <<5NF E>>F65FEF6GNM<5 ?<F5=7<<, 

>5>DG4>64=<5 < E5DF<D<F<D>64==O= ?5DE>=4?. 

 

 

2. �>D<4F<6=O5 EEO?>< 

� =4EF>OM5< 4>>G<5=F5 <E?>?L7>64=O EEO?>< =4 E?54GNM<5 =>D<4F<6=O5 

?D46>6O5 4>FO < =>D<4F<6=O5 4>>G<5=FO. 

2.1. $545D4?L=O= 74>>= 7323-$� >F 21.11.2011 7. «�5 >E=>64E >ED4=O 74>D>6LO 

7D4644= 6 $>EE<=E>>= $545D4F<<». 

2.2. $545D4?L=O= 74>>= 7329-$� >F 04.12.2007 7. «� D<7<G5E>>= >G?LFGD5 < 

E?>DF5 6 $>EE<=E>>= $545D4F<<». 

2.3. �D<>47 �<=<EF5DEF64 74D46>>ED4=5=<O $$ >F 23 >>FO5DO 2020 7. N 1144= 

«�5 GF65D645=<< ?>DO4>4 >D74=<74F<< >>474=<O <54<F<=E>>= ?><>M< ?<F4<, 

74=<<4NM<<EO D<7<G5E>>= >G?LFGD>= < E?>DF>< (6 F>< G<E?5 ?D< ?>47>F>6>5 < 

?D>6545=<< D<7>G?LFGD=OE <5D>?D<OF<= < E?>DF<6=OE <5D>?D<OF<=), 6>?NG4O 

?>DO4>> <54<F<=E>>7> >E<>FD4 ?<F, 65?4NM<E ?D>=F< E?>DF<6=GN ?>47>F>6>G, 

74=<<4FLEO D<7<G5E>>= >G?LFGD>= < E?>DF>< 6 >D74=<74F<OE < (<?<) 6O?>?=<FL 

=>D<4F<6O <E?OF4=<= (F5EF>6) �E5D>EE<=E>>7> D<7>G?LFGD=>-E?>DF<6=>7> 

>><??5>E4 "�>F>6 > FDG4G < >5>D>=5" (�&�)" < D>D< <54<F<=E><E 74>?NG5=<= > 

4>?GE>5 > GG4EF<N 6 D<7>G?LFGD=OE < E?>DF<6=OE <5D>?D<OF<OE». 

2.4. �D<>47 �<=<EF5DEF64 �4D46>>ED4=5=<O $>EE<< >F 15.11.2012 N 926= "�5 

GF65D645=<< �>DO4>4 >>474=<O <54<F<=E>>= ?><>M< 67D>E?><G =4E5?5=<N ?D< 

745>?564=<OE =5D6=>= E<EF5<O" (�4D57<EFD<D>64=> 6 �<=NEF5 $>EE<< 23.01.2013 N 

26692). 

2.5. $5>><5=44F<< $ $��� $>EE<< 1-2023 «�>DO4>> D47D45>F><, <7?>65=<O, 

?D54EF46?5=<O =4 E>7?4E>64=<5 < GF65D645=<5 =>D<4F<6=OE < <5F>4<G5E><E 
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4>>G<5=F>6, D47D454FO645<OE =4GG=O<< >D74=<74F<O<< ?> 74>47G $��� $>EE<<, 6 

�><<EE<N $545D4?L=>7> <54<>>-5<>?>7<G5E>>7> 475=FEF64 ?> D4EE<>FD5=<N 

=>D<4F<6=OE < <5F>4<G5E><E 4>>G<5=F>6, D47D45>F4==OE ?D< 6O?>?=5=<< =4GG=>-

<EE?54>64F5?LE><E < >?OF=>->>=EFDG>F>DE><E D45>F, >EGM5EF6?5=<< =4GG=>-

F5E=<G5E>>= < <==>64F<>==>= 45OF5?L=>EF<». 

 

�D<<5G4=<5 3 �D< ?>?L7>64=<< =4EF>OM<<< <5F>4<G5E><<< D5>><5=44F<O<< F5?5E>>5D47=> ?D>65D<FL 

45=EF6<5 EEO?>G=OE =>D<4F<6=OE 4>>G<5=F>6 6 <=H>D<4F<>==>= E<EF5<5 >5M57> ?>?L7>64=<O 3 =4 >H<F<4?L=>< 

E4=F5 $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< 6 E5F< <=F5D=5F <?< ?> 5657>4=> 

<744645<><G G>474F5?N «�4F<>=4?L=O5 EF4=44DFO», >>F>DO= >?G5?<>>64= ?> E>EF>O=<N =4 1 O=64DO F5>GM57> 

7>44, < ?> E>>F65FEF6GNM<< 565<5EOG=> <744645<O< <=H>D<4F<>==O< G>474F5?O<, >?G5?<>>64==O< 6 F5>GM5< 

7>4G. �E?< EEO?>G=O= 4>>G<5=F 74<5=5= (<7<5=5=), F> ?D< ?>?L7>64=<< =4EF>OM<<< <5F>4<G5E><<< 

D5>><5=44F<O<< E?54G5F DG>>6>4EF6>64FLEO 74<5=ONM<< (<7<5=5==O<) 4>>G<5=F><. �E?< EEO?>G=O= 4>>G<5=F 

>F<5=5= 557 74<5=O, F> ?>?>65=<5, 6 >>F>D>< 44=4 EEO?>4 =4 =57>, ?D<<5=O5FEO 6 G4EF<, =5 74FD47<64NM5= MFG 

EEO?>G.  
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3. �5>7=4G5=<O < E>>D4M5=<O 
 

�� 3 4DF5D<4?L=>5 446?5=<5 

�%$  3 64D<455?L=>EFL E5D45G=>7> D<F<4 

��� 3 6<7=5==4O 5<>>EFL ?57><E 

��$ 3 >>6=>-74?L64=<G5E>4O D54>F<O 

�%� 3 ?>?<E><=>7D4D<O  

$�� 3 $>EE<=E>4O �>445<<O �4G>  

'� 3 G4EF>F4 4OE4=<O 

'%% 3 G4EF>F4 E5D45G=OE E>>D4M5=<= 

 

 

4. �D<F5D<< 4<47=>EF<>< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 

� ?D>F5EE5 444?F4F<< G5?>65>4 > 45=EF6<N F>7> <?< <=>7> D4>F>D4 6 >D74=<7<5 

6>7=<>4NF >4> =5E?5F<D<G5E><5 444?F4F<>==O5 <7<5=5=<O, F4> < E?5F<D<G5E><5. 

�7GG5=<5< =5E?5F<D<G5E><E <7<5=5=<= 74=<<4?<EL F4><5 6<4=O5 GG5=O5 >4> 

�. %5?L5, �.�. �6545=E><=, '. �M==>=, �. �. �4E>=>6 < �./. �?5>E4=4D>6, 

�.�. �D55?< < 4D. �>?LL>= 6>?44 6 <7GG5=<5 E?5F<D<G5E>>= 444?F4F<< 6=5E?< 

�.�. ,<?>6, �.�. �74464=O=, �.�. �5465456, �.�. �47=4G556 < 4DG7<5. 

$47 444?F4F<>==O5 <7<5=5=<O 45?OFEO =4 E?5F<D<G5E><5 < =5E?5F<D<G5E><5, 

F> < >D<F5D<< 444?F4F<< >D74=<7<4 G5?>65>4 (< 6 G4EF=>EF<, E?>DFE<5=4) F4>65 

?>4D4745?ONFEO =4 =5E?5F<D<G5E><5 (<=F57D4?L=O5) < E?5F<D<G5E><5. 

�5E?5F<D<G5E><5 >D<F5D<< >FD464NF DG=>F<>=4?L=>5 E>EF>O=<5 >D74=<7<4 

E?>DFE<5=4 ?D< 6>745=EF6<< ?N5>7> D4>F>D4, 4 E?5F<D<G5E><5 >FD464NF 

E4D4>F5D=O5 <7<5=5=<O, D>D<<DGNM<5EO ?>4 45=EF6<5< F>7> <?< <=>7> 

?>6D5644NM57> D4>F>D4. 

%>>F65FEF65==> <=F57D4?L=O<< (=5E?5F<D<G5E><<) >D<F5D<O<< 4<7444?F4F<< 

O6?ONFEO =4DGL5=<O E4<>GG6EF6<O (6O?>EFL, E?45>EFL, ?>6OL5==4O GF><?O5<>EFL, 

7>?>6=4O 5>?L, E=<65=<5 4??5F<F4 < 4D.); 6>7=<>=>65=<5 =4DGL5=<= E=4; <7<5=5=<5 

(D57>>5 E=<65=<5) <4EEO F5?4; G65?<G5=<5 6D5<5=< 6>EEF4=>6?5=<O 
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DG=>F<>=4?L=>7> E>EF>O=<O >D74=<7<4 E?>DFE<5=4; E=<65=<5 <<<G=>D54>F<6=>EF< 

(745>?5645<>EFL, E>>D>EFL 746<6?5=<O D4= < >6>7>6), >5>EFD5=<5 ED>=<G5E><E 

745>?564=<=; E=<65=<5 D45>F>E?>E>5=>EF< < ?5D5=>E<<>EF< D<7<G5E><E < 

?E<E>M<>F<>=4?L=OE =47DG7>>; 6>EEF4=>6?5=<5 4> GD>6=O =>D<4?L=OE 7=4G5=<= 

?>>474F5?5= 64D<455?L=>EF< E5D45G=>7> D<F<4.  

%?5F<D<G5E><5 <7<5=5=<O E4D4>F5D=O 4?O D4>F>D>6 D47?<G=>= ?D<D>4O. 

�4?D<<5D, G 6<F5?5= D46=<=O ?D< ?>4N5<5 6 7>DO ?>O6?O5FEO >4OL>4 (GG4M5=<5 

G4EF>FO 4OE4=<O), F4E<>4D4<O (G65?<G5=<5 '%%), MD<FD5<<O (G65?<G5=<5 6 

?5D<D5D<G5E>>= >D>6< >>?<G5EF64 MD<FD>F<F>6 74 EG5F 6O5D>E4 <7 45?>); ?D< 

45=EF6<< 6OE>><E F5<?5D4FGD 6 64D>>< >?<<4F5 444?F4F<O E>?D>6>6445FEO 

>?F<<<74F<5= ?>F>>F45?5=<O, <7<5=5=<O<< E> EF>D>=O E<EF5<O 4OE4=<O < E5D45G=>-

E>EG4<EF>= E<EF5<O, 4 F4>65 <7<5=5=<O< 6 4=4?<75 >D>6< < 4D. 

$4EE<4FD<64O ?D>5?5<G >D<F5D<4?L=>7> 4??4D4F4 444?F4F<< > 45E<=ED>=>7G, 

?>4E>4 > >D<F5D<O< =5 <7<5=<FEO, < >=< F4>65 5G4GF E?5F<D<G5E><<< < 

=5E?5F<D<G5E><<< (D<EG=>> 1). 

�D<G5< =5E?5F<D<G5E><5 >D<F5D<< =5 <7<5=ONFEO, 4 E?5F<D<G5E><< 

>D<F5D<5< 444?F4F<< > 45E<=ED>=>7G 5G45F =>D<4?<74F<O E=4, >>F>DGN <>6=> 

>F5=<64FL ?> F4><< ?>>474F5?O< >4> >5M55 6D5<O E=4; 6D5<O, ?D>6545==>5 6 >D>64F<; 

MDD5>F<6=>EFL E=4 < 6D5<O 4> ?5D6>7> ?D>5G645=<O. 

'E>>D5=<O <?< >5?57G5=<5 (>?F<<<74F<O) ?D>F5EE>6 444?F4F<< > 

<7<5=ONM<<EO GE?>6<O< 6=5L=5= ED54O O6?ONFEO >4=<< <7 ?GF5= ?>6OL5=<O 

MDD5>F<6=>EF< E>D56=>64F5?L=>= 45OF5?L=>EF< E?>DFE<5=4. �?F<<<74F<O 

444?F4F<>==OE ?D>F5EE>6 ?D<6>4<F > ?>6OL5=<N >5M5= D57<EF5=F=>EF< >D74=<7<4 

E?>DFE<5=4, ?>6OL5=<O 74M<F=OE E<?, E=<65=<< EF5?5=< 6>745=EF6<O =4 

?4F>75=5F<G5E><5 <5E4=<7<O D476<F<O 745>?564=<O, 6>E?>?=5=<5 =54>EF4F>4 

6=5L=<E (?D<D>4=OE) 6>745=EF6<=. 

 



 

10 

 

$<EG=>> 1 3 �D<F5D<< 444?F4F<< >D74=<7<4 > 45E<=ED>=>7G 

 

�E=>6O64OEL =4 44==OE ?<F5D4FGDO < E>5EF65==OE <EE?54>64=<= 5O?4 

D47D45>F4=4 <5F>4<>4 4<47=>EF<>< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 

E GG5F>< E?5F<D<G5E><E >D<F5D<56 444?F4F<< > 45E<=ED>=>7G. 

 

 

5. �5F>4O 4<47=>EF<>< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 

=4 MF4?4E E?>DF<6=>= 45OF5?L=>EF< 

%?>DFE<5=O ?D< FD4=E<5D<4<4==OE ?5D5?5F4E 6 <5EF4 ?D>6545=<O 

E>D56=>64=<= ?D< ?5D5E5G5=<< 3 < 5>?55 G4E>6OE ?>OE4 EF4?><64NFEO E 

?D>O6?5=<O<< 45E<=ED>=>74 (E<=4D><4 E<5=O G4E>6>7> ?>OE4).  

�D<F5D<< 444?F4F<< > 45E<=ED>=>7G

�=F57D4?L=O5

(=5E?5F<D<G5E><5)                

�>D<4?<74F<O E4<>GG6EF6<O

�>D<4?<74F<O 4??5F<F4

%F45<?<74F<O <4EEO F5?4

�>EEF4=>6?5=<5 D<7<G5E>>= 
D45>F>E?>E>5=>EF<

�>D<4?<74F<O ?E<E>M<>F<>=4?L=>7> 
E>EF>O=<O

�>D<4?<74F<O ?>>474F5?5= 
64D<455?L=>EF< E5D45G=>7> D<F<4

�>D<4?<74F<O ?>>474F5?5= 
?5D<D5D<G5E>>= >D>6<

%?5F<D<G5E><5
4?O 45E<=ED>=>74

�>D<4?<74F<O E=4

�5M55 6D5<O E=4

�D5<O, ?D>6545==>5 6 
>D>64F<

-DD5>F<6=>EFL E=4

�D5<O 4> ?5D6>7> 
?D>5G645=<O
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� >E=>6=O< E<<?F><4< 45E<=ED>=>74 >F=>EOFEO: =4DGL5=<O E=4, ?>6OL5==4O 

GF><?O5<>EFL, E=<65=<5 >>=F5=FD4F<< 6=<<4=<O, E=<65=<5 EFD5EE>GEF>=G<6>EF<, 

64?>5O E> EF>D>=O E5D45G=>-E>EG4<EF>= E<EF5<O, 7>?>6=4O 5>?L, E=<65=<5 

4??5F<F4, E=<65=<5 ���, >MGM5=<5 <OL5G=>= E?45>EF< < 4DG7<5. 

�D< D47D45>F>5 >><??5>E4 4<47=>EF<G5E><E <5D>?D<OF<=, ?>76>?ONM<E 

>EGM5EF6?OFL ?>=7<FN4=O= <>=<F>D<=7 DG=>F<>=4?L=>7> E>EF>O=<O E?>DFE<5=>6 E 

F>G>< 7D5=<O 444?F4F<< F<D>44<4==OE D<F<>6, =4<< 5O?< ?D>4=4?<7<D>64=O 44==O5 

?<F5D4FGD=OE <EF>G=<>>6 < >?OF E>5EF65==OE <EE?54>64=<= 6 MF>= >5?4EF<. � 4=4?<7 

5O?< 6>?NG5=O E?54GNM<5 <5F>4<><: 

1) ?G?LE><5FD<O E D4EG5F>< ?>>474F5?5= 64D<455?L=>EF< E5D45G=>7> D<F<4; 

2) ?>?<E><=>7D4D<O; 

3) <>=<F>D<=7 DG=>F<>=4?L=>7> E>EF>O=<O (FD5>5DO); 

4) 44==O5 >E<>FD4 E?>DF<6=>7> 6D4G4 (64?>5O, & F5?4, �� < 4D.); 

5) 6545=<5 4=56=<>4 E4<>>F5=>< E>EF>O=<O E?>DFE<5=><. 

�E=>6=>= 7444G5= 4?O G<5=LL5=<O ?D>O6?5=<= 45E<=ED>=>74 O6?O5FEO 

E>ED4=5=<5 «4><4L=57>» D56<<4 E=4 < 5>4DEF6>64=<O 6 =>6>< G4E>6>< ?>OE5 ?>E?5 

4?<F5?L=>7> ?5D5?5F4 6 E?GG45, 5E?< E?>DFE<5= =4E>4<FEO =4 E>D56=>64=<OE =5 5>?55 

3-E 4=5=. &5?5E>>5D47=> ?D<5OFL 74D4=55 < ?D>65EF< ?D5444?F4F<N E ?5D5E>4>< =4 

<5EF=>5 6D5<O, 5E?< ?5D<>4 ?D55O64=<O =4 E5>D4E <?< GG4EF<5 6 E>D56=>64=<OE 

?D54?>?474NF =4E>65=<5 6 MF>< D57<>=5 5>?55 G5< 4 4=O. 

� <>=>7D4D<< �>64?L7>=4 �.�. «�E=>6O E><=>?>7<<: D<7<>?>7<O < 

=5=D>E<<<O F<>?4 «5>4DEF6>64=<5-E>=»» ?D54EF46?5=4 EFDG>FGD4 E5<<G4E>6>7> E=4 

G5?>65>4 - 7<?=>7D4<<4 (D<EG=>> 2).  
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$<EG=>> 2 3 �<?=>7D4<<4 E5<<G4E>6>7> E=4 (�>64?L7>= �.�., 2012 7>8) 

 

' G5?>65>4 E>= =4G<=45FEO E 1-= EF44<< <54?5==>7> E=4 (4D5<>FO), ?5D5E>4<F 

6> 2-N (?57><= E>=), 74F5< 6 3-N < 4-N (7?G5>><= E>=/ 45?LF4 E>=). '4EFL 46F>D>6 3-N 

< 4-N D47O E=4 >5N54<=ONF 6 >4=G. �4?55 E?54G5F D474 5OEFD>7> E=4, ?>E?5 >>F>D>= 

G5?>65> ?<5> ?D>EO?45FEO, ?<5> 6=>6L ?5D5E>4<F 6 D47G <54?5==>7> E=4. �4==O= 

F<>? E=4 4?<FEO ?D<<5D=> ?>?F>D4 G4E4. �4 =>GL 6 ED54=5< G 67D>E?>7> G5?>65>4 

?D>E>4<F 4 - 6 F4><E F<>?>6.  

�54?5==O= (<54?5==>6>?=>6>=/ >DF>4>>E4?L=O=) E>= =47O64NF NREM- E>= (6 

?5D56>45 E 4=7?. Non Rapid Eye Movement - =5 5OEFD>5 46<65=<5 7?47). �= E>EF46?O5F 

75 - 80% >F 6E57> E=4. �OEFDO= E>= (?4D44>>E4?L=O=) 3 REM- E>= (>F 4=7?. Rapid Eye 

Movement - 5OEFD>5 46<65=<5 7?47/ ��� - E>=). �7> ?D>4>?6<F5?L=>EFL E>EF46?O5F 

20 - 25% >F 6E57> E=4. 

� >5M5>?<=<G5E>>= ?D4>F<>5 «7>?>FO< EF4=44DF><» 6 >?D545?5=<< >4G5EF64 

E=4 O6?O5FEO ?>?<E><=>7D4D<O (�%�). �>?<E><=>7D4D<O 445F 6>7<>6=>EFL E 

6OE>>>= F>G=>EFLN 6OO6<FL >4=> <7 50 EGM5EF6GNM<E =4DGL5=<= E=4, 4 6 DO45 

E?GG456 GEF4=>6<FL ?D<G<=O D4EEFD>=EF6. 

�>?<E><=>7D4D<O D57<EFD<DG5F E?54GNM<5 ?4D4<5FDO: 

M?5>FD>M=F5D4?>7D4<<4 (--�), M?5>FD>>>G?>7D4<<4 (-��), M?5F>D><<>7D4<<4 

(-��) (F>=GE ?>45>D>4>G=OE <OLF), 46<65=<O =<6=<E >>=5G=>EF5=, 

M?5>FD>>4D4<>7D4<<4 (-��), =>E>D>F>6>= ?>F>> 6>74GE4 < ED4?, 4OE4F5?L=O5 

46<65=<O 7DG4=>= >?5F>< < 5DNL=>= EF5=><, E4FGD4F<O (SpO2) < ?G?LE, 4 F4>65 

?>?>65=<5 F5?4. �>?<E><=>7D4D<O ?D>6>4<FEO ?D< ?><>M< E?5F<4?L=OE 44FG<>>6, 
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74>D5??5==OE =4 D47?<G=OE G4EFOE F5?4 E?OM57> (D<EG=>> 3). �EE?54>64=<5 

?D>6>4<FEO 6 F5G5=<5 6E57> =>G=>7> E=4: E <><5=F4 74EO?4=<O < 4> 7 G4E>6 GFD4. 

 

 

$<EG=>> 3 3 %E5<4F<G=>5 <7>5D465=<5 ?>?<E><=>7D4D<< 
(https://doctrine7.com/diagnostika/polisomnografiya/) 

 

�4==O= <5F>4 <7<5D5=<O FDG4>5<>> < =5 ?>4E>4<F 4?O ?>EF>O==>7> 

=45?N45=<O 74 E?>DFE<5=4<<, ?>F><G GF> 5>?LLGN G4EFL 6D5<5=< >=< =4E>4OFEO =4 

FD5=<D>6>G=OE E5>D4E < E>D56=>64=<OE. � E6O7< E MF<<, 4?O >>=FD>?O 74 E>EF>O=<5< 

E?>DFE<5=>6 =4 ?D>FO65=<< 4?<F5?L=>7> 6D5<5=< < =5 <5L4NM<< 6O?>?=5=<N <E 

?D>D5EE<>=4?L=>= 45OF5?L=>EF< D5>><5=4G5FEO <E?>?L7>64FL D<F=5E-FD5>5DO 

(E<4DF-G4EO). 

� =4EF>OM55 6D5<O 6 4DE5=4?5 E?>DFE<5=4, FD5=5D4 < E?>DF<6=>7> 6D4G4 <<55FEO 

L<D>><= 6O5>D D<F=5E-FD5>5D>6 (D<EG=>> 4). 
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$<EG=>> 4 3 �=5L=<= 6<4 GEFD>=EF6 4?O >FE?56<64=<O D<7<G5E>>= 4>F<6=>EF<, ?4D4<5FD>6 E=4, 

D<7<>?>7<G5E><E ?>>474F5?5= < GE?>6<= FD5=<D>6>> 

(D<F=5E-FD5>5DO <?< E<4DF-G4EO) 

 

$47?<G=O5 GEFD>=EF64 (D<F=5E-FD5>5DO) D<>E<DGNF D47?<G=O= =45>D 

D<7<>?>7<G5E><E ?>>474F5?5=. %D54< =<E '� (G4EF>F4 4OE4=<O), E4FGD4F<O 

(=4EOM5=<5 >D>6< ><E?>D>4><), '%% (G4EF>F4 E5D45G=OE E>>D4M5=<= E >>=FD>?5< 

?G?LE>6OE 7>= =4 FD5=<D>6>5), �� (4DF5D<4?L=>5 446?5=<5); ?>>474F5?< �%$ 

(64D<455?L=>EF< E5D45G=>7> D<F<4), ?>>4?L=4O F5<?5D4FGD4, >>=FD>?L E=4 

(74EO?4=<5, ?>4N5<, D47O E=4), ��$ (>>6=>-74?L64=<G5E>4O D54>F<O), ?>4EG5F 

>4?>D<= (M=5D7>FD4FO) < 4DG7<5. -F> >FD4645FEO < 6 64D<4=F4E ?D>7D4<<=>7> 

<=F5DD5=E4 D<F=5E-FD5>5D>6 D47?<G=OE ?D><76>4<F5?5= (D<EG=>> 5). 



 

15 

 

$<EG=>> 5 3 �4D<4=FO ?D>7D4<<=>7> <=F5DD5=E4 D<F=5E-FD5>5D>6 D47?<G=OE ?D><76>4<F5?5= 

 

%>6>>G?=>EFL D57<EFD<DG5<OE ?>>474F5?5= 445F 6>7<>6=>EFL 4<=4<<G5E>>7> 

=45?N45=<O 74 >4G5EF65==O<< < >>?<G5EF65==O<< E4D4>F5D<EF<>4<< E>EF>O=<O 

E?>DFE<5=4, 6 F>< G<E?5 < ?D< =4DGL5=<< F<D>44<4==OE D<F<>6, E6O74==OE E 

?D>O6?5=<O<< 45E<=ED>=>74, GF> ?>76>?O5F <E?>?L7>64FL D<F=5E-FD5>5DO >4> 

4>?>?=<F5?L=O= >5N5>F<6=O= <=EFDG<5=F 6D4G55=>7> >>=FD>?O (deep- review. com 

[E4=F] URL:https://deep-review.com/articles/how-pulse-oximeters-works-on-fitness-

trackers/). 

�464O= ?D<5>D, 6E>4OM<= 6 E>EF46 D<F=5E- 5D4E?5F4 <<55F E?54GNMGN 

EFDG>FGDG: 

1) 44FG<><, E>5<D4NM<5 D<7<>?>7<G5E><5 ?>>474F5?<; 

2) <<>D>?D>F5EE>DO, >5D454FO64NM<5 ?>>474F5?<; 

3) 4<E??5=, >F>5D464NM<= D57G?LF4F. 

�E=>6=O5 ?D<5>DO, 6E>4OM<5 6 E>EF46 D<F=5E- FD5>5D>6 < ?>76>?ONM<5 

>>=FD>?<D>64FL D<7<>?>7<G5E><5 ?>>474F5?< G5?>65>4 6> E=5 ?D54EF46?5=O =<65. 

�G?LE>>E<<5FD 3 ?D<5>D, >?D545?ONM<= =4EOM5=<5 >D>6< ><E?>D>4>< 

(?D>F5=F=>5 >F=>L5=<5 >>E<75<>7?>5<=4 > >5M5<G >>?<G5EF6G 75<>7?>5<=4). �= 

E>EF><F <7 >D4E=>7> < <=DD4>D4E=>7> E65F>4<>4>6, >>F>DO5 <7?GG4NF E65F. �GG< 



 

16 

E65F4 >FD464NFEO >F F>4=5= < G?46?<64NFEO D>F>4<>4><, GEF4=>6?5==O< <564G 

E65F>4<>44<< (D<EG=>> 6).  

 

 

$<EG=>> 6 3 %E5<4F<G5E>>5 <7>5D465=<5 D45>FO ?G?LE>>E<<5FD4 D<F=5E-FD5>5D4 =4 

74?OEFL5 (https://deep-review.com/articles/how-pulse-oximeters-works-on-fitness-trackers/) 

 

� >D>6< MD<FD>F<FO E>45D64F 75<>7?>5<=, E6O74==O= E <>?5>G?4<< ><E?>D>44 

3 >>E<75<>7?>5<=, < =5 E6O74==O= E ><E?>D>4><- 457>>E<75<>7?>5<=. 

�>E<75<>7?>5<= ?>7?>M45F 5>?LL5 <=DD4>D4E=O= E65F, 4 457>>E<75<>7?>5<= 3 

>D4E=O= (D<EG=>> 7). 

 

 

$<EG=>> 7 3 %F5?5=L ?>7?>M5=<O >D4E=>7> < <=DD4>D4E=>7> E65F4 >>E<75<>7?>5<=>< < 

457>>E<75<>7?>5<=><  

(https://deep-review.com/articles/how-pulse-oximeters-works-on-fitness-trackers/) 

 

&4><< >5D47><, 5E?< 6 <><5=F ?G?LE4F<< ?GG56>= 4DF5D<< =4 D>F>4<>4 

?>EFG?45F <4?> <=DD4>D4E=>7> E65F4 < <=>7> >D4E=>7>, 7=4G<F >D>6L =4?>?=5=4 
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<>?5>G?4<< ><E?>D>44, <, =4>5>D>F, 5E?< =4 D>F>4<>4 ?>EF45F <=>7> <=DD4>D4E=>7> 

E65F4 < <4?> >D4E=>7> E65F4, 7=4G<F 6 >D>6< <4?> ><E?>D>44.  

�G?LE><5FD 3 ?D<5>D, E ?><>MLN >>F>D>7> >?D545?O5FEO G4EF>FG E5D45G=OE 

E>>D4M5=<= < D4EEG<FO64NFEO ?>>474F5?< 64D<455?L=>EF< E5D45G=>7> D<F<4.  

� >E=>65 D45>FO ?G?LE><5FD4 ?56<F <5F>4 D>F>??5F<7<>7D4D<<, ?D< >>F>D>< 

<E?>?L7GNF 75?5=O5 E65F>4<>4O, <7?GG4NM<5 E65F, < 45F5>F>DO, D57<EFD<DGNM<5 

GD>65=L 57> >FD465=<O. � 5OEFDGN D47G E=4 E5D4F5 =4G<=45F E>>D4M4FLEO G4M5; 

?>6OL45FEO 446?5=<5 6 E>EG44E; GE<?<645FEO >D>6>F>>; ?>7?>M45FEO 5>?LL5 E65F4 >F 

E65F>4<>4>6, GF> D<>E<DG5FEO 45F5>F>D4<< (D<EG=>> 8). 

 

 

$<EG=>> 8 3 %E5<4F<G5E>>5 <7>5D465=<5 D>F>??5F<7<>7D4D<< 6 D<F=5E-FD5>5D4E 
(https://stot64.ru/rejtingi-smartfonov/chto-takoe-pulsometr-v-fitnes-braslete-i-chto-on-pokazyvaet.html) 

 

&4><< >5D47><, 6 <><5=F E>>D4M5=<O E5D45G=>= <OLFO >D>6< 6 E>EG44E, 

D4E?>?>65==OE ?>4 D<F=5E-FD5>5D>< (6 7>=5 45=EF6<O E65F>4<>4>6 < 45F5>F>D>6) 

5G45F 5>?LL5, G5< 6 <><5=F D4EE?45?5=<O E5D45G=>= <OLFO. �>?LL55 >>?<G5EF6> 

>D>6< ?>7?>F<F 5>?LL5 <7?GG45<>7> E65F>4<>4>< E65F4. �5F5>F>D E >464O< 

E>>D4M5=<5< E5D4F4 ?>?GG45F <5=LL5 >FD465==>7> E65F4 ?> ED46=5=<N E D47>= 

D4EE?45?5=<O E5D4F4 (D<EG=>< 9 < 10). 
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$<EG=>> 93 %E5<4F<G5E>>5 <7>5D465=<5 674<<>E6O7< ?G?LE><5FD4 D<F=5E-FD5>5D4 < 

?GG56>= 4DF5D<< 6 <><5=F D4EE?45?5=<O E5D45G=>= <OLFO  

(https://deep-review.com/articles/why-fitness-trackers-do-not-measure-hr/?_thumbnail_id=16856) 

 

 

$<EG=>> 10 3 %E5<4F<G5E>>5 <7>5D465=<5 674<<>E6O7< ?G?LE><5FD4 D<F=5E-FD5>5D4 < 

?GG56>= 4DF5D<< 6 <><5=F E>>D4M5=<O E5D45G=>= <OLFO 
(https://deep-review.com/articles/why-fitness-trackers-do-not-measure-hr/?_thumbnail_id=16856) 

 

�>E5?5D><5FD 3 ?D<5>D, <7<5DONM<= GE>>D5=<5. �= ?>76>?O5F >?D545?<FL 

=4E>>?L>> 5OEFD> < 6 >4>>< =4?D46?5=<< 46<65FEO GEFD>=EF6> (=>G=O5 ?>E>4O 6 

FG4?5F, ?G=4F<7<). 

�D<=F<? D45>FO >4=>>E56>7> 4>E5?5D><5FD4 >?<E4= =<65. 

�>E5?5D><5FD E>EF><F <7 46GE >>=45=E4F>D>6 («54F4D55>»): 1) 65DE=OO 

??4EF<=>4 E D55D4<< < 7DG7<>; 2) =<6=OO ??4EF<=>4 E D55D4<< < 7DG7<> (D<EG=>> 11).  
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$<EG=>> 11 3 %E5<4F<G5E>>5 <7>5D465=<5 >4=>>E56>7> 4>E5?5D><5FD4 (https://deep-

review.com/articles/what-is-accelerometer-and-how-it-works/) 

 

 

$<EG=>> 12 3 %E5<4F<G=>5 <7>5D465=<5 D45>FO >4=>>E56>7> 4>E5?5D><5FD4, 7DG7<> 

E46<=GF 6?D46> 
(https://deep-review.com/articles/what-is-accelerometer-and-how-it-works/) 

 

� E?GG45, 5E?< 7DG7<> >F>?>=<FEO 6?D46>, F> <564G ?5D6>= < 6F>D>= 65DE=<<< 

??4EF<=>4<< 5G45F 5>?LL4O E<?4 674<<>45=EF6<O, 4 <564G ?5D6>= < 6F>D>= =<6=<<< 

??4EF<=>4<< 5G45F <4?5=L>4O (D<EG=>> 12). � =4>5>D>F, ?D< >F>?>=5=<< 7DG7<>4 

6?56> <564G 65DE=<<< ??4EF<=>4<< 5G45F <4?5=L>4O E<?4 674<<>45=EF6<O, 4 <564G 

=<6=<<< 5>?LL4O. �E?< 46<65=<O 7DG7<>4 =5F, F> E<?O 674<<>45=EF6<O <564G 

??4EF<=>4<< E65DEG < E=<7G >4<=4>>6O5. �E5 44==O5, ?>?GG5==O5 6 D57G?LF4F5 

46<65=<= 7DG7<>4, >5D454FO64NFEO < >F>5D464NFEO =4 4<E??55 D<F=5E-FD5>5D4. 
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�<D>E>>? 3 ?D<5>D, 6OG<E?ONM<= G7>? < E>>D>EFL ?>6>D>F4 GEFD>=EF64 6 

?D>EFD4=EF65 (D<EG=>> 13). �D<5>D 6OEG<FO645F 46<65=<O DG>< 6 D57G?LF4F5 G57> 

?>76>?O5F >F?<G<FL 67<4E DG>< >F ?>?=>F5==>7> L474. 

 

 

$<EG=>> 13 3 %E5<4F<G=>5 <7>5D465=<5 7<D>E>>?4 
(http://mail.electrik.info/device/1597-chto-takoe-giroskop-i-akselerometr.html) 

 

&4><< >5D47><, 4>E5?5D><5FD D547<DG5F =4 GE>>D5=<5 ?D54<5F4, 4 7<D>E>>? 4 

=4 <7<5=5=<5 57> ?>?>65=<O 6 ?D>EFD4=EF65. � 5>?LL<=EF65 D<F=5E-FD5>5D>6 4?O 

>F>5D465=<O 5>?55 F>G=OE D57G?LF4F>6 GEF4=>6?5=O < 4>E5?5D><5FD, < 7<D>E>>?.  

$5>><5=4G5FEO <E?>?L7>64FL D<F=5E-FD5>5DO E 3->E56O<< 4>E5?5D><5FD4<< 

<?< E 6 3 >E56O<< 44FG<>4<< (3 4>E5?5D><5FD4 < 3 7<D>E>>?4), 4?O >?D545?5=<O 

?>?>65=<O </<?< GE>>D5=<O ?> >EO<: 6?56>/6?D46>, 665DE/6=<7, 6?5D54/=4744. 

%D46=5=<5 F>G=>EF< ?>?<E><=>7D4D<G5E>>7> <EE?54>64=<O E 44==O<<, 

>>F>DO5 ?>?GG45F E?>DFE<5= ?D< <E?>?L7>64=<< <=4<6<4G4?L=OE FD5>5D>6 6 6<45 

<4FD<FO >>DD5?OF<= ?D54EF46?5=> 6 F45?<F5 1.  

 

&45?<F4 1 3 �4FD<F4 >>DD5?OF<= 4?O ED46=5=<O ?>?<E><=>7D4D<G5E>>7> <EE?54>64=<O < 44==OE, 

?>?GG5==OE E FD5>5D>6 E=4 

 

�
>
?
<

E>
<

=
>
7D

4D
<

O
  

Xiaomi Mi 

Band 5 

HUAWEI 

Band 4 pro 

Garmin 

vivosmart 4 

Polar 

Ignite 

Fitbit 

Charge 4 

�5M55 6D5<O E=4 0,57 0,28 0,81 0,61 0,45 

�D5<O 6 >D>64F< 0,49 0,41 0,88 0,38 0,25 

-DD5>F<6=>EFL E=4 0,42 0,32 0,71 0,45 0,24 
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$5>><5=4G5<O5 <>45?< D<F=5E-FD5>5D>6, ?>>474?< E>?>EF46<<GN F>G=>EFL E 

?>?<E><=>7D4D<G5E><< <EE?54>64=<5<. � GG<FO64O ?57>>EFL 6 ?>?GG5=<< 

<=D>D<4F<< > >4G5EF65 E=4 ?D< <E?>?L7>64=<< D<F=5E-FD5>5D>6 6O5>D 6 <E ?>?L7G 

EF4=>6<FEO >G56<4=O<. 

%D46=<64O 44==O5 >>DD5?OF<>==>7> 4=4?<74 ?>?<E><=>7D4D<< < 

D5>><5=4G5<OE FD5>5D>6 (Xiaomi Mi Band 5, HUAWEI Band 4 pro, Garmin vivosmart 

4, Polar Ignite < Fitbit Charge 4) 6OO6?5=>, GF> =4<5>?55 6OE>><5 >>MDD<F<5=FO 

>>DD5?OF<= G Garmin vivosmart 4.  

�>=<F>D<=7 74 64?>54<<, ?D54NO6?O5<O<< E?>DFE<5=4<< < 6545=<5 4=56=<>4 

E4<>=45?N45=<= 4<EF<??<=<DG5F E?>DFE<5=4 < 445F 6D4GG < FD5=5DG 

4>?>?=<F5?L=O5 E6545=<O 4?O >5N5>F<6<74F<< EF5?5=< 6OD465==>EF< O6?5=<= 

45E<=ED>=>74 G E?>DFE<5=>6. �<65 ?D54EF46?5= ?D54?4745<O= >5D475F «�=56=<>4 

E4<>>>=FD>?O E?>DFE<5=4» < D5>><5=44F<< > 57> 74?>?=5=<N. 

 

��$���& 

�=56=<> E4<>>>=FD>?O E?>DFE<5=4 

$��___________________________________________________�>7D4EF______________ 

�<8 E?>DF4___________________________________________________________________ 

7 

?/? 
�>>474F5?L 

�=4G5=<5 

�4F4 F5EF<D>64=<O 

�4F4 1 �4F4 2 �4F4 3 �4F4 & 

1 �4EE4 F5?4 (8> FD5=<D>6><)     

2 
�4EE4 F5?4 (?>E?5 

FD5=<D>6><) 
    

3 �G?LE <?< '%% ?>>>O     

4 �4?>5O     

5 %4<>GG6EF6<5     

6 �4EFD>5=<5     

7 %>=     

8 �??5F<F     

9 �5?4=<5 FD5=<D>64FLEO     

10 �>?56O5 >MGM5=<O     

11 $4EEFD>=EF64 ><L5G=<>4     

12 %?>DF<6=O5 D57G?LF4FO     

13 �4DGL5=<5 D56<<4     

14 %>85D64=<5 FD5=<D>6><     

15 �5D5=>E<<>EFL =47DG7><     
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$5>><5=44F<< > 74?>?=5=<N 

�G?LE (G4EF>F4 E5D45G=OE E>>D4M5=<= ('%%)), G44DO 6 1 <<=. �>4EG<FO64NF 

=4 ?GG56>= <?< E>==>= 4DF5D<< 74 1 <<=GFG. �>6=> <E?>?L7>64FL 44==O5 D<F=5EE-

FD5>5D4. 

�4EE4 F5?4, >7. �765L<64=<5 E?54G5F ?D>6>4<FL =4 >4=<E < F5E 65 65E4E. 

�4?>5O 3 MF> GEF=>5 >?<E4=<5 EG5N5>F<6=OE >MGM5=<=, >>F>DO5 55E?>>>OF 

E?>DFE<5=4. �5=M<=O < 456GL>< >F<5G4NF 6 4=56=<>5 ?5D<>4<G=>EFL < E4D4>F5D 

<5EOG=OE. 

%4<>GG6EF6<5 >FD4645F >5M55 E>EF>O=<5 E?>DFE<5=4. �F5=<645FEO >4> 

E>D>L55, G4>6?5F6>D<F5?L=>5 <?< ??>E>5. 

�4EFD>5=<5 3 M<>F<>=4?L=O= D>= 4?O ?D>F5>4NM<E ?E<E<G5E><E ?D>F5EE>6. 

�F5=<645FEO >4> E>D>L55, G4>6?5F6>D<F5?L=>5 <?< ??>E>5. 

%>= 3 6 4=56=<>5 E4<>>F5=>< E?>DFE<5= 445F EG5N5>F<6=GN >F5=>G E=G 6 MF>F 

45=L. '>47O645FEO ?D>4>?6<F5?L=>EFL E=4 < >4G5EF6> E=4 (=>D<4?L=O= <?< ??>E>=). 

�??5F<F 3 >MGM5=<5, E6O74==>5 E ?>FD55=>EFLN 6 ?<M5. � 4=56=<>5 

>F<5G45FEO: 4??5F<F E>D>L<=, ?>6OL5==O=, G4>6?5F6>D<F5?L=O=, ?>=<65==O= <?< 

>FEGFEF6G5F. 

�5?4=<5 FD5=<D>64FLEO 3 >FD4645F =4EFD>= E?>DFE<5=4 =4 6O?>?=5=<5 

FD5=<D>6>G=>= =47DG7>< (G>47O645FEO 5EFL 65?4=<5 <?< 57> =5F).  

�>?56O5 >MGM5=<O <>7GF 6>7=<>4FL 6 >F45?L=OE <OLF4E <?< EGEF464E 

(=4<5>?55 =47DG645<OE), 5>?< 6 >5?4EF< E5D4F4 < <E E4D4>F5D; 7>?>6=O5 5>?< < 

7>?>6>>DG65=<O < 4DG7>5. 

$4EEFD>=EF64 ><L5G=<>4 3 E?>DFE<5= G>47O645F =4 =4?<G<5 G =57> ?D>O6?5=<= 

=4DGL5=<= E> EF>D>=O 65?G4>G=>-><L5G=>7> FD4>F4. 

%?>DF<6=O5 D57G?LF4FO 3 6 7D4D5 >D4F>> ?<L5FEO D>EF, E=<65=<5 <?< 557 

4<=4<<><. 

�4DGL5=<5 D56<<4 3 6=>EOFEO E6545=<O > E4<OE D47?<G=OE =4DGL5=<OE 

(>GD5=<5, G?>FD55?5=<5 4?>>7>?O < 4D.) 

%>45D64=<O FD5=<D>6>< 3 MF> >D4F>4O E4D4>F5D<EF<>4 FD5=<D>6>< 

(4?<F5?L=>EFL, =4?>?=5=<5, =4?D46?5==>EFL, MF4? < F.?.). 
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�5D5=>E<<>EFL =47DG7>< 3 E?>DFE<5= >F<5G45F, >4> >= E?D46<?EO E FD5=<D>6>>= 

(«E>D>L>», «G4>6?5F6>D<F5?L=>» < «=5G4>6?5F6>D<F5?L=>»). 

�O D5>><5=4G5< E?>DFE<5=4< ?>EF>O==> 74?>?=OFL 4=56=<> E4<>>>=FD>?O < 

D57G?OD=> ?>>47O64FL 57> FD5=5DG, ?D< =5>5E>4<<>EF< 3 6D4GG. 

 

 

6. �5F>4O >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 

MF4?4E E?>DF<6=>= 45OF5?L=>EF< 

�D>O6?5=<O =4DGL5=<= F<D>44=OE D<F<>6 G E?>DFE<5=>6 =4 D47?<G=OE MF4?4E 

E?>DF<6=>= 45OF5?L=>EF< =5>5E>4<<> GEFD4=<FL <?< G<5=LL<FL <5F>44<< 

=5D4D<4>>?>7<G5E>>= < D4D<4>>?>7<G5E>>= ?>445D6><. 

 

6.1. �5D4D<4>>?>7<G5E><5 <5F>4O >>DD5>F<< =4DGL5=<= 

F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?4E E?>DF<6=>= 45OF5?L=>EF< 

6.1.1. 'EFD>=EF64 4?O >FE?56<64=<O D<7<G5E>>= 4>F<6=>EF<, ?4D4<5FD>6 E=4, 

D<7<>?>7<G5E><E ?>>474F5?5= < GE?>6<= FD5=<D>6>> (D<F=5E-FD5>5DO <?< E<4DF-

G4EO). 

�7 <=>65EF64 DG=>F<= E>6D5<5==OE GEFD>=EF6 >E=>6=>= 4?O >>DD5>F<< 

?D>O6?5=<= 45E<=ED>=>74 O6?O5FEO DG=>F<O «'<=O= 5G4<?L=<>». �=4 D57<EFD<DG5F 

6D5<O >FE>44 >> E=G; <><5=F ?D>5G645=<O; EG<<4D=>5 6D5<O E=4; 6D5<O, ?D>6545==>5 

6 ?>EF5?< 4> <><5=F4 74EO?4=<O; G4EF>FG E5D45G=OE E>>D4M5=<= < >>?<G5EF6> 

<<>D>46<65=<= 6> 6D5<O E=4. �EN ?>?GG5==GN <=D>D<4F<N 74465F ?5D5445F ?> 

Bluetooth 6 E<4DFD>= <?< 4DG7>5 E>?DO65==>5 GEFD>=EF6> =4 5475 iOS <?< Android 

(D<EG=>> 14). 
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$<EG=>> 14 3 �4<= <7 64D<4=F>6 D<F=5E-FD5>5D4 E DG=>F<5= «'<=O= 5G4<?L=<>» 
(http://test-drive.asia/novosti/super-cena-na-huawei-band-6/) 

 

�EE>4O <7 MF>= <=D>D<4F<<, ?D>7D4<<4 D5>><5=4G5F >?F<<4?L=GN 

?D>4>?6<F5?L=>EFL E=4 < ?>4E>4OM55 6D5<O ?D>5G645=<O ?> 7444==><G ?D><56GF>G.  

'<=O= 5G4<?L=<>, ED454FO64NM<= 6> 6D5<O D47O 5OEFD>7> E=4, >55E?5G<645F 

>><D>DF=>5 ?D>5G645=<5 < 5>4D>EFL 6 F5G5=<5 6E57> 4=O. �D<=F<? D45>FO 44==>7> 

>5>DG4>64=<O <O <>65< 6<45FL =4 D<EG=>5 15.  

 

 

 

$<EG=>> 15 3 �D<=F<? D45>FO G<=>7> 5G4<?L=<>4 

 

&D5>5D =5>5E>4<<> =>E<FL 4?<F5?L=>, GF>5O >= <>7 74?<EO64FL 5>?LL5 44==OE 

> E?>DFE<5=5 < 6O4464FL 5>?55 4>EF>65D=O5 D57G?LF4FO <7<5D5=<=. 

�?O ?>?=>7> >>=FD>?O E=4 646=>, GF>5O 6 D<F=5E-FD5>5D5 5O?4 DG=>F<O 

>>=FD>?O 4=56=>7> E=4. �4=< FD5>5DO <<5NF E?5F<4?L=GN >F45?L=GN DG=>F<N 4?O 

57> >F>5D465=<O. '4EFL FD5>5D>6 E?>E>5=> ?>>47O64FL 4=56=>= E>=, => ?D< 
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<E?>?L7>64=<< 4>?>?=<F5?L=>7> ?D<?>65=<O. �5>>F>DO5 D<F=5E- 5D4E?5FO 

E?>E>5=O >?D545?<FL 4=56=>= E>=, => ?D<?>65=<5 =5 5G45F 57> >?4EE<D<F<D>64FL 

>4> 4=56=>=, 4 ?>>465F >5M55 6D5<O E=4 74 EGF><. 

 

 

6.1.2. �<7<5=4 E=4 

%GM5EF6GNF ?D46<?4, >>F>DO5 E><=>?>7< E>65FGNF E>5?N44FL, GF>5O 

<<=<<<7<D>64FL =574F<6=>5 45=EF6<5 45E<=ED>=>74. 

1) %>5?N45=<5 D56<<4 4=O. %?54G5F 5654=56=> ?>6<FLEO E?4FL ?D<<5D=> 6 

>4=> < F>65 6D5<O. �>=FD>?L 74 74EO?4=<5< <>6=> ?D>6>4<FL, =4?D<<5D, E 

<E?>?L7>64=<5< D<F=5E- FD5>5D>6. 

2) %>744=<5 E?>>>==>= >5EF4=>6><. �E?< =5F F4>>= 6>7<>6=>EF< 

(?D>6<64=<5 6 >><=4F5 E E>E54O<<), F> <E?>?L7>64FL 55DGL<. 

3) �>445D64=<5 >><D>DF=>= F5<?5D4FGDO 6 >><=4F5 4?O >F4OE4 (E?4?L=5). 

�?F<<4?L=>= 4?O E=4 EG<F45FEO F5<?5D4FGD4 >F 15 4> 23 °%. �D>65FD<64FL >><=4FG 

?5D54 E=><. 

4) %?4FL =G6=> 6 F5<=>F5. �><=4F4, 6 >>F>D>= E?<F E?>DFE<5=, 4>?6=4 5OFL 

>5>DG4>64=4 E65F>=5?D>=<F45<O<< LF>D4<< <?< <>6=> 6>E?>?L7>64FLEO 

<=4<6<4G4?L=O<< <4E>4<< 4?O 7?47.  

5) �5D54 E=>< =G6=> E=<7<FL G<EF65==GN 45OF5?L=>EFL, <=D>D<4F<>==GN 

=47DG7>G < D<7<G5E>GN 4>F<6=>EFL. �5G5D=OO FD5=<D>6>4 4>?6=4 74>4=G<64FLEO =5 

<5=55, G5< 74 2 G4E4 4> E=4. 

6) �75574FL 4=56=>7> E=4. �E?< =5>5E>4<<> =5<=>7> 674D5<=GFL 6 F5G5=<5 

4=O, >7D4=<G<FLEO 20 <<=GF4<< < =5 ?>6<FLEO E?4FL ?>E?5 16:00. 

7) �D>64FL 3 MF> <5EF> 4?O E=4. �=4 4>?6=4 5OFL G4>5=>= < >><D>DF=>=: 

L<D<=4 E?4?L=>7> <5EF4 4?O >4=>7> G5?>65>4 =5 <5=55120 E<; E E>D>L<<< <4FD4E><, 

?>4GL>>=, >45O?>< < ?>EF5?L=O< 55?L5<. �E?>?L7>64FL G4>5=GN < >><D>DF=GN 

>4564G 4?O E=4. 

8) �D<5< ?<M< 4>?65= 5OFL =5 ?>74=55, G5< 74 2 G4E4 4> E=4. �44 =5 4>?6=4 

5OFL >5<?L=>=. �5>>F>DO5 ?D>4G>FO, F4><5 >4> <>?>>>, D<E, 54=4=O, =>7GDF, 
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75D>G?5E, >D5E< < 6<L=O, ?><>74NF 74E=GFL. �75574FL ?D<5<4 6 65G5D=55 6D5<O 

=4?<F>>6 E >>D5<=><, 4?>>7>?O < =<>>F<=4. �D><5 F>7>, =5 ?<FL <=>7> 6<4>>EF< 

?5D54 E=><. 

�5>5E>4<<> ?D>6545=<5 <=D>D<4F<>==>-<5F>4<G5E><E 74=OF<= 

E> E?>DFE<5=4<< 4?O ?>6OL5=<O <E <=D>D<<D>64==>EF< > ?D46<?4E 7<7<5=O E=4, ?D< 

?D>6545=<< 74=OF<= <>6=> <E?>?L7>64FL =47?O4=O5 ?>E>5<O (D<EG=>> 16). 

 

 
 

$<EG=>> 16 3 �4D<4=F ??4>4F4 E =47?O4=O< <7>5D465=<5< ?D46<? 74>D>6>7> E=4 
(https://zen.yandex.ru/media/mchadassah/spite-na-zdorove-pochemu-tak-vajen-son-5c9e27b983227900b3b441f7) 

 

6.1.3. $56<< ?<F4=<O 

$56<< ?<F4=<O E?>DFE<5=>6 4?O >>DD5>F<< F<D>44<4==OE D<F<>6 4>?65= 

E>>F65FEF6>64FL <75D4==>= EFD4F57<< 444?F4F<<. �E?< E?>DFE<5= ?D<5E4? =4 

>>D>F>>5 6D5<O (4> 3-E 4=5=) =4 E>D56=>64=<O, F> F5?5E>>5D47=> =5 <7<5=OFL 

?D<6OG=><G 7D4D<>G D4E?>DO4>4 4=O, MF> 5G45F E?>E>5EF6>64FL E>ED4=5=<N 

D<7<>?>7<G5E><E D<F<>6 < ?>76>?<F <75564FL 4<E?5?E<G5E><E D4EEFD>=EF6. �E?< 

E?>DFE<5= ?D<5E4? =4 E5>DO <?< E>D56=>64=<O, >>F>DO5 ?D>4?OFEO 5>?55 3-E 4=5= < 

EFD4F57<O 444?F4F<< ?D54?>?4745F ?5D5E>4 =4 <5EF=>5 6D5<O, F> D56<< ?<F4=<O 

4>?65= E>>F65FEF6>64FL G4E>6><G ?>OEG <5EF4 ?D55O64=<O. 
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� ?N5>< E?GG45, 65?4F5?L=> E>ED4=<FL 5->D4F=O= ?D<U< ?<M< E ?D<6OG=O< 

=45>D>< ?D>4G>F>6, 4 D4E?D545?5=<5 >4?>D<==>EF< 4>?6=> 5OFL F4><<: 746FD4> 3 

25%; 6F>D>= 746FD4> 3 10%; >554 3 35%; ?>?4=<> 3 10%; G6<= 3 20%.  

�> E>EF46G ?D>4G>FO 4>?6=O 5OFL 6OE>>>55?>>6O<< 6 ?5D<>4 5>4DEF6>64=<O 

< 6OE>>>G7?56>4=O<< 74 1,5 3 2 G4E4 4> E=4. 

 

 

6.1.4. $56<< FD5=<D>6>> < 6OEFG??5=<= =4 E>D56=>64=<OE 

�D>4>?6<F5?L=>EFL < <=F5=E<6=>EFL =47DG7>< =4 FD5=<D>6>4E ?>E?5 ?5D5?UF4 

6 <5EF> ?D>6545=<O GG55=>-FD5=<D>6>G=OE E5>D>6 4>?6=O E>>F65FEF6>64FL MF4?G 

?>47>F>6>< < >?D545?O5FEO FD5=5D><. '4M5 6E57> FD5=<D>6>G=O= ?D>F5EE =4 E5>D4E 

=4G<=45FEO 6 ?5D6O= 65 45=L ?>E?5 ?D<5744. 

� E?GG45 >D74=<74F<< D56<<4 G E?>DFE<5=4 ?D< FD5=<D>6>4E < E>D56=>64=<OE 

=5>5E>4<<> (>4> < 6 E?GG45 E D56<<>< ?<F4=<O) <EE>4<FL <7 6O5>D4 EFD4F57<< 

444?F4F<<. 

 

6.1.4.1. %>ED4=5=<5 «4><4L=57>» D56<<4 ?D< ?D55O64=<< 6 <5EF5 

?D>6545=<O E>D56=>64=<= 

�D< 6O5>D5 MF>= EFD4F57<< 444?F4F<< 6D5<O E?>DF<6=>= 4>F<6=>EF< 

G E?>DFE<5=>6 4>?6=> E>>F65FEF6>64FL ?D<6OG=><G < =5 4>?6=> 746<E5FL >F 

<7<5=5=<O 6D5<5==>= 7>=O. 

� F45?<F4E 2 < 3 4?O ?D<<5D4 ?D<6>4<FEO D4E?>DO4>> 4=O G E?>DFE<5=>6, 

?D54?4745<O= 4?O E>ED4=5=<O «4><4L=57> D56<<4» ?D< ?5D5E5G5=<< ?OF< G4E>6OE 

?>OE4 6 >5><E =4?D46?5=<OE. 
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&45?<F4 2 3 �D<<5D=O= D4E?>DO4>> 4=O >><4=4O ?D< ?5D5?UF5 =4 74?44 G5D57 ?OFL G4E>6OE ?>OE4 

�5=EF6<5 �><4L=55 

6D5<O 

�5EF=>5 6D5<O 

(-5 G4E>6) 

�>4NU<, 7<7<5=<G5E><5 ?D>F54GDO 7.00 2.00 

�46FD4> 7.15 2.15 

&D5=<D>6>4 8.00 3.00 

�F>D>= 746FD4> 10.00 5.00 

%6>5>4=>5 6D5<O 11.00 6.00 

�554 13.00 8.00 

�=56=>= >F4OE 14.00 9.00 

�>?4=<> 16.00 11.00 

&D5=<D>6>4 18.00 13.00 

'6<= 20.00 15.00 

�4EE46 (E?>DF., ?5G55. <?< D4EE?45?ONM<=) 20.30 15.30 

&U??O= 4GL (64==4) 21.30 16.30 

�F5>= 22.00 17.00 

 

&45?<F4 3 3 �D<<5D=O= D4E?>DO4>> 4=O >><4=4O ?D< ?5D5?UF5 =4 6>EF>> G5D57 ?OFL G4E>6OE ?>OE4 

�5=EF6<5 �><4L=55 

6D5<O 

�5EF=>5 6D5<O 

(+5 G4E>6) 

�>4NU<, 7<7<5=<G5E><5 ?D>F54GDO 7.00 12.00 

�46FD4> 7.15 12.15 

&D5=<D>6>4 8.00 13.00 

�F>D>= 746FD4> 10.00 15.00 

%6>5>4=>5 6D5<O 11.00 16.00 

�554 13.00 18.00 

�=56=>= >F4OE 14.00 19.00 

�>?4=<> 16.00 21.00 

&D5=<D>6>4 18.00 23.00 

'6<= 20.00 01.00 

�4EE46 (E?>DF., ?5G55=. <?< D4EE?45?ONM<=) 20.30 01.30 

&U??O= 4GL (64==4) 21.30 02.30 

�F5>= 22.00 03.00 

 

�E?< E?>DFE<5= 6O=G645= 6OEFG?4FL =4 E>D56=>64=<OE 6 «=>G=>5» 6D5<O 

?>EF>O==>7> <5EF4 6<F5?LEF64, >E>5>5 6=<<4=<5 EF><F G45?<FL D47<<=>5. 'F>5O 

4>F<6<7<D>64FL =5D6=GN E<EF5<G, ?>4=OFL F5<?5D4FGDG F5?4, ?>6OE<FL GD>65=L 

=4EFD>5=<O, D47<<=>4 4>?6=4 5OFL 5>?55 4?<F5?L=>= < M=5D7<G=>=. '65 20 <<=GF=4O 

<=F5=E<6=4O D47<<=>4 ?>4=<<45F F5<?5D4FGDG F5?4 < G65?<G<645F E?>DF<6=GN 

D57G?LF4F<6=>EFL 6 ?>74=<5 =>G=O5 G4EO < D4==<< GFD>< G F5E, >F> >5OG=> 

FD5=<DG5FEO 6 4=56=O5 <?< 65G5D=<5 G4EO. 

�FE?54<FL 6D5<O 6 D47=OE G4E>6OE ?>OE4E 6>7<>6=> E ?><>MLN G4E>6 

E =5E>>?L><<< F<D5D5?4F4<< (D<EG=>> 17). 
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$<EG=>> 17 3 �D<<5D G4E>6 E 46G<O F<D5D5?4F4<< 

 

�E>55==>EFLN MF>7> 64D<4=F4 O6?O5FEO F>, GF> =5>5E>4<<> ?>?GG<FL E>7?4E<5 

>D74=<74F>D>6 E>D56=>64=<= 4>EFG? > >5N5>F4< ?<F4=<O < E?>DF<6=O< 74?4< 6 

=G6=>5 4?O 64E 6D5<O. 

 

6.1.4.2. �5D5E>4 =4 6D5<O G4E>6>7> ?>OE4 <5EF4 ?D>6545=<O E>D56=>64=<= 

<?< E?>DF<6=OE E5>D>6 

�D< ?D55O64=<< 6 <5EF5 E>D56=>64=<= <?< E?>DF<6=OE E5>D>6 5>?55 3 3 4 4=5= 

?>4E>4<F EFD4F57<O 745?47>6D5<5==>7> E<5M5=<O D4E?>DO4>4 4=O 6 ?D545?4E 1 3 3 

G4E>6, GF>5O <75564FL E>F<4?L=>7> 4<E>><D>DF4. &4> >4> F4>>5 E<5M5=<5 6D5<5=< 

=5 6O7O645F D476<F<O >EFD>7> 45E<=ED>=>74 < =5 =5EUF 74 E>5>= =574F<6=OE 

?D>O6?5=<=. &> 5EFL 74 =545?N 4> ?5D5?5F4 E?>DFE<5= G65 6<65F =5 ?> «4><4L=5<G» 

6D5<5=<, 4 ?>EF5?5==> E<5M45F ?D<6OG=O= D4E?>DO4>>. 

�>E?5 ?5D5?5F4 ?D>4>?645FEO ?D>F5EE 6D5<5==>= 444?F4F<<. $5>><5=4G5<4O 

E>>D>EFL E<5M5=<O D4E?>DO4>4 4=O 6 <5EF5 ?D>6545=<O E5>D>6 <?< E>D56=>64=<= 

<>65F E>EF46?OFL 1 G4E 6 EGF><, F4> >4> MF> D46=>F5==> E>>D>EF< E<=ED>=<74F<< 

5<>?>7<G5E><E D<F<>6.  
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6.1.5. $<7<>F5D4?56F<G5E><5 <5F>4O >>DD5>F<< =4DGL5=<O F<D>44<4==OE 

D<F<>6 

6.1.5.1. %65F>EF<<G?OF<O 

� ?D>7D4<<5 >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 

D47?<G=OE MF4?4E E?>DF<6=>= 45OF5?L=>EF< F5?5E>>5D47=> <E?>?L7>64FL ?4<?O 4?O 

E65F>EF<<G?OF<< (?4<?O 4?O <<<F4F<< 4=56=>7> E65F4) (D<EG=>> 18). 

�>D<4?L=O= F<D>44<4==O= <5E4=<7< «E>=-5>4DEF6>64=<5» 6 >D74=<7<5 

D57G?<DG5FEO EG?D4E<47<4?L=O< O4D>< 7<?>F4?4<GE4, E>7?4E>64= E EGF>G=O< D<F<>< 

E>?=5G=>= >E65MU==>EF<, F> 5EFL 5EF5EF65==O= E65F O6?O5FEO 4><<=<DGNM<< 

6=5L=<< D4>F>D><, G?D46?ONM<< 6=GFD5==<<< G4E4<< >D74=<7<4. 

 

 
$<EG=>> 18 3 �4D<4=F ?D<5>D4 4?O E65F>EF<<G?OF<< (E65F>F5D4?<<) 

 

&5?5=4?D46?5==>5 6>745=EF6<5 <E>GEEF65==>7> E65F4 E 4?<=>= 6>?=O, 

?D<5?<65==>= > 5EF5EF65==><G E>?=5G=><G E65FG, OD>>EFLN =5 <5=55 2500 ?N<5=>6 

6 >?D545?U==>5 6D5<O EGF>> ?><>745F ?D5>4>?5FL FO7G >> E=G, G?GGL<FL >5M55 

E4<>GG6EF6<5 < =4EFD>5=<5, ?>6OE<FL D45>F>E?>E>5=>EFL < 4>F<6=>EFL. 
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6.1.5.2. �G4<>EF<<G?OF<O 

� =4EF>OM55 6D5<O G E?>DFE<5=4 < E?>DF<6=>7> 6D4G4 5>?LL>= 6O5>D 

E?5F<4?L=OE <G7O>4?L=OE < 76G>>6OE (LG< >?D545?5==>= G4EF>FO) >><?>7<F<=, 

>>F>DO5 E?>E>5EF6GNF 74EO?4=<N <?< ?D>5G645=<N. 

�4?D<<5D, <>6=> <E?>?L7>64FL 75=5D4F>D 55?>7> LG<4, >>F>DO=, ?><<<> 

55?>7> LG<4, E?>E>55= 6>E?D><76>4<FL F4>65 76G>< <>DE>>7> ?D<5>O, FD>?<G5E>>7> 

?5E4, 4>64O, 65FD4 < F.4. (D<EG=>> 19). 

 

 

$<EG=>> 19 3 �4D<4=F ?D<5>D4 4?O 75=5D4F<< «55?>7> LG<4» 

 

�6G><, >F>5D4==O5 4?O 4G4<>EF<<G?OF<< 6 44==>< ?D<5>D5 (<?< 4=4?>75), 

G45D6<64NF E?GE>6>= 4=4?<74F>D 6 E>EF>O=<< >>=F5=FD4F<< =4 ?>EF>O==OE, 

>4=>>5D47=OE, ?D<OF=OE < =5E?>6=OE 76G>4E < E?>E>5EF6GNF GE>>D5=<N D47O 

74EO?4=<O. 

 

6.1.5.3. �<4D>F5D4?<O (6>4=O5 ?D>F54GDO) 

�<4D>F5D4?<O 3 MF> D<7<>F5D4?56F<G5E><5 ?D>F54GDO, >E=>64==O5 

=4 =4DG6=>< ?D<<5=5=<< ?D5E=>= 6>4O, < 6>?NG4NF 6 E55O 64==O, 4GL, >5?<64=<5 < 

4D. �<4D>F5D4?<O >F=>E<FEO > <5F>44<, E4D4>F5D<7GNM<<EO 4>EFG?=>EFLN, 

?D>EF>F>= < 557>?4E=>EFLN. 

� 746<E<<>EF< >F F5<?5D4FGDO 6>4O ?D>F54GDO 45?OF =4 E>?>4=O5 (=<65 

20°%), ?D>E?44=O5 (21-33°%), <=4<DD5D5=F=>= F5<?5D4FGDO (34-36°%), FU??O5 (37-

39°%) < 7>DOG<5 (40°% < 6OL5). -DD5>F >F ?D>F54GDO =4?DO<GN 746<E<F >F 

F5<?5D4FGDO 6>4O. �?O F>7> GF>5O 4>5<FLEO D4EE?45?5=<O (E544F<6=O= MDD5>F) 

<E?>?L7GNF 7>DOGGN <?< F5??GN 6>4G. %>?>4=4O < ?D>E?44=4O 6>44 ?D<<5=O5FEO ?D< 
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=5>5E>4<<>EF< EF<<G?OF<< (?>6OL5=<O 4>F<6=>EF<). �>7<>6=> <E?>?L7>64=<5 

>>=FD4EF=OE 6>4=OE ?D>F54GD (G5D54>64=<5 7>DOG5= < E>?>4=>= 6>4O), GF> 

>55E?5G<645F F>=<7<DGNM<= MDD5>F =4 =5D6=GN E<EF5<G < ?>6OL45F 

D45>F>E?>E>5=>EFL. 

� ?>446?ONM5< 5>?LL<=EF65 E?GG456 =><5D 6 7>EF<=<F5, 6 >>F>D>= 

D47<5M45FEO E?>DFE<5= ?D< ?5D55745 6 <5EF4 ?D>6545=<O E5>D>6 < E>D56=>64=<=, 

>E=4M5= 4GL56>= >45<=>>= <?< 64==>=. -F> 445F 6>7<>6=>EFL 4?O E4<>EF>OF5?L=>7> 

?D>6545=<O E?>DFE<5=4<< ?D>F54GD 7<4D>F5D4?<<. �D< >5NOE=5=<< E?>DFE<5=4< 

MDD5>F4 >F ?D<<5=5=<O 6>4O D47=>= F5<?5D4FGDO, 6>7<>6=> 4>5<FLEO F>7>, GF> 

?D>EF4O 7<7<5=<G5E>4O ?D>F54GD4 5G45F <E?>?L7>64FLEO < 4?O >>DD5>F<< ?D>O6?5=<= 

45E<=ED>=>74.  

 

6.1.5.4. �D<>E4G=4 

�D<>F5D4?<O 3 <5F>4 6>745=EF6<O =4 >D74=<7< E>?>4><. �D<>F5D4?<O <>65F 

<E?>?L7>64FLEO 4?O >>DD5>F<< =4DGL5=<O F<D>44<4==OE D<F<>6 6 F>< E?GG45 5E?< 

>5>DG4>64=<5< 4?O 55 ?D>6545=<O >E=4M5=4 E?>DF<6=4O 5474, 745 ?D>E>4OF GG55=>-

FD5=<D>6>G=O5 E5>DO G E?>DFE<5=>6. �5M<= 6<4 >D<>E4G=O 4?O ?D>6545=<O 

?D>F54GD ?D54EF46?5= =4 D<EG=>5 20. 

 

 
$<EG=>> 20 3 �5>DG4>64=<5 4?O ?D>6545=<O >5M5= >D<>F5D4?<< (>D<>E4G=4) 
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� >D<>E4G=5 ?D><EE>4<F >D4F>>6D5<5==>5, => 7=4G<F5?L=>5 >E?4645=<5 >>6< 

< ?>4>>6=OE F>4=5=, 6 >>F>D>= 6 >4G5EF65 E?44475=F4 <E?>?L7G5FEO EGE>= 

4F<>ED5D=O= 6>74GE <?< 47>F E D45>G5= F5<?5D4FGD>= >F <<=GE 30°% 4> <<=GE 120°%. 

�D< MF>< F5<?5D4FGD4 >>6=OE ?>>D>6>6 6 ?>47>F>6<F5?L=GN D47G <7=>65==> 

>?GE>45FEO 4> <<=GE 2°%. �D>4>?6<F5?L=>EFL ?D>F54GDO =5 ?D56OL45F 46GE <<=GF. 

�D>F54GDG >D<>E4G=O D5>><5=4>64=> ?D>6>4<FL 6 ?5D6O= G4E ?>E?5 

?D>5G645=<O <?< 74 2 3 3 G4E4 4> FD5=<D>6>< <?< E>D56=>64=<=.  

$<7<>F5D4?56F<G5E><= MDD5>F >F ?D>F54GDO E>EF><F 6 GE>>D5=<< 

?D>5G645=<O (?D< =4DGL5=<OE E=4), G?GGL5=<< >5M57> E4<>GG6EF6<O, ?>6OL5=<< 

D45>F>E?>E>5=>EF< < EF45<?<74F<< M<>F<>=4?L=>7> D>=4. 

 

 

6.2. $4D<4>>?>7<G5E><5 <5F>4O >>DD5>F<< =4DGL5=<= F<D>44<4==OE 

D<F<>6 G E?>DFE<5=>6 =4 MF4?4E E?>DF<6=>= 45OF5?L=>EF< (E GG5F>< 

4=F<4>?<=7>6>7> 74>>=>44F5?LEF64) 

� E6O7< E F5<, GF> E?5F<D<G5E><< >D<F5D<5< =4DGL5=<= F<D>44<4==OE D<F<>6 

O6?O5FEO =4DGL5=<5 E=4, F> D4D<4>>?>7<G5E>4O >>DD5>F<O 4>?6=4 5OFL =4?D46?5=4 

?D5645 6E57> =4 57> 6>EEF4=>6?5=<5.  

�?O D4D<4>>?>7<G5E>>= >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G 

E?>DFE<5=>6 =4 D47?<G=OE MF4?4E E?>DF<6=>= 45OF5?L=>EF< ?D54?>GF5=<5 

=5>5E>4<<> >F4464FL ?D5?4D4F4<, E>45D64M<< �5?4F>=<= <?< Z-7<?=>F<>4< 

(47>=<EFO 55=7>4<475?<=>6OE D5F5?F>D>6). �4==O5 ?D5?4D4FO 6 <5=LL5= EF5?5=<, 

G5< E=>F6>D=O5 ED54EF64 4DG7<E 7DG??, >5?444NF ?>5>G=O<< MDD5>F4<< 6 6<45 

4=56=>= E>=?<6>EF<, E=<65=<O 4DF5D<4?L=>7> 446?5=<O, =4DGL5=<= >>>D4<=4F<< 

46<65=<=, 7>?>6>>DG65=<=, <OL5G=>= E?45>EF<, >5M57> F>D<>65=<O, D476<F<O 

?E<E<G5E>>= < D<7<G5E>>= 746<E<<>EF< < 4DG7<E.  

� ?D5?4D4F4< <7 7DG??O Z 3 7<?=>F<>>6 >F=>EOFEO ?5>4DEF65==O5 ED54EF64, 

E>45D64M<5 E?54GNM<5 45=EF6GNM<5 65M5EF64: �>?<>?>=, �>??<45< < �4?5??>=. 

�?O >>DD5>F<< ?D>O6?5=<= 45E<=ED>=>74 G E?>DFE<5=>6 ?D5?4D4F4<< 6O5>D4 <7 

7DG??O Z-7<?=>F<>>6 O6?ONFEO ED54EF64, E>45D64M<5 45=EF6GNM<5 65M5EF64 
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�>??<45< < �4?5??>=. �4<5>?55 ?D54?>GF<F5?L=> ?D<<5=5=<5 �4?5??>=4 (F>D7>6O5 

=4764=<O «�=44=F5» < «%>=4F4®�44<54»). -F> ?D5?4D4FO E >>D>F><< ?5D<>4>< 

?>?G6O6545=<O < =4<<5=LL<< >>?<G5EF6>< < 6OD465==>EFLN ?>5>G=OE MDD5>F>6. 

$>D<4 6O?GE>4 ?D5?4D4F>6: >4?EG?O. %?>E>5 ?D<<5=5=<O < 4>7<D>6>4 4?O >5><E 

?D5?4D4F>6 E>EF46?O5F 10 <7, 6=GFDL, =5?>ED54EF65==> ?5D54 >FE>4>< >> E=G, G5D57 2 

G4E4 ?>E?5 ?D<5<4 ?<M<, >GDE ?D<5<4 =5 5>?55 3-E 4=5=. 

�E5 Z-7<?=>F<>< >F=>EOFEO > D5F5?FGD=O< ?D5?4D4F4<, 4 F5, 6 E>EF46 >>F>DOE 

6E>4<F �>?<>?>= (F>D7>6>5 =4764=<5 «�<>64=») 6>?NG5=O 6 7DG??G 

E<?L=>45=EF6GNM<E < =4E>4OFEO =4 EFD>7>< >>?<G5EF65==>< GG5F5. 

%?54G5F >5D4F<FL 6=<<4=<5, GF> G Z-7<?=>F<>>6 >FEGFEF6GNF ?>?>6<F5?L=O5 

MDD5>FO, >>F>DO5 ?D<EGM<5 ?D5?4D4F4<, E>45D64M<< �5?4F>=<= (F>D7>6O5 

=4764=<O «�5?E>=», «�5?4>E5=®», «�5?4D5=4®», «�5?4D<F<®» < 4DG7<5). �D><5 F>7>, 

EGM5EF6GNF ��� < ?5>4DEF65==O5 ?D5?4D4FO, E>45D64M<5 <5?4F>=<= (D<EG=>> 21). 

�> ?D< <E <E?>?L7>64=<< =G6=4 >EF>D>6=>EFL, F4> >4> =5D54>< E?GG4< 747DO7=5=<O 

��� 65M5EF64<< <7 74?D5M5==>7> E?<E>4. 

 

 

$<EG=>> 21 3 �5>4DEF65==O5 ?D5?4D4FO < ���, E>45D64M<5 �5?4F>=<= 

 

%D54EF64, E>45D64M<5 �5?4F>=<=, ?><<<> E=>F6>D=>7>, >5?444NF 

444?F>75==O<, 4=F<>>E<44=F=O< < <<<G=>EF<<G?<DGNM<< 45=EF6<5<. 

�>?>?=<F5?L=O<< ?>?>6<F5?L=O<< E6>=EF64<< 44==OE ?D5?4D4F>6 O6?O5FEO 

L<D>><= F5D4?56F<G5E><= <=45>E, 557D5F5?FGD=O= >F?GE> < ?D54EF46?5==>EFL 6 



 

35 

4?F5>4E. $>D<4 6O?GE>4 ?D5?4D4F>6: F45?5F><. %?>E>5 ?D<<5=5=<O < 4>7<D>6>4 

E>EF46?O5F 3 <7, 6=GFDL, 74 30 - 40 <<=GF 4> E=4, >GDE ?D<5<4 =5 5>?55 3-E 4=5=. 

�O =5 D5>><5=4G5< D57G?OD=O= ?D<5< �5?4F>=<=4 4?<F5?L=O<< >GDE4<<. -F> 

E6O74=> E F5<, GF> 4?<F5?L=>5 <E?>?L7>64=<5 <?< ?D<<5=5=<5 5ó?LL<E, G5< 

D5>><5=4G5<O5 4>7 �5?4F>=<=4 <>65F 6O764FL E=<65=<5 E5>D5F<< 6 ?5D6GN >G5D54L 

7>=44>FD>?=OE 7>D<>=>6, 4 F4>65 >>DF<>>FD>?=>7>, F<D5>FD>?=>7> < 

E><4F>FD>?=>7> 7>D<>=>6, GF> <>65F =574F<6=> ?>6?<OFL =4 E?>DF<6=GN 

D57G?LF4F<6=>EFL. 

�5>5E>4<<> 4>546<FL, GF> ?5D54 ?D<5<>< >4>>=-?<5> ��� <?< ?5>4DEF6 

=5>5E>4<<> E65D<FL <E E>EF46 E 45=EF6GNM<< =4 F5>GM<= <><5=F E?<E>>< 

74?D5M5==OE ?D5?4D4F>6 WADA < ?D>>>=EG?LF<D>64FLEO E ?D54EF46<F5?O<< 

$'%���. 

�>45>D E=>F6>D=OE ?D5?4D4F>6, E>45D64M<E �5?4F>=<= <?< Z-7<?=>F<>>6 

=5>5E>4<<> ?D>6>4<FL 6> 6=5E>D56=>64F5?L=>< ?5D<>45, =4?D<<5D 6 GE?>6<OE 

GEF4=>6>G=>7> E5>D4, 4 =5 =4G<=4FL <E?>?L7>64=<5 ?5>4DEF65==>7> ED54EF64 

=5?>ED54EF65==> =4 E>D56=>64=<OE. �D><5 F>7>, =5 D5>><5=4G5FEO <E?>?L7>64FL 

E=>F6>D=O5 ED54EF64 =4>4=G=5 4=O E>D56=>64=<=. 

 

 

7. $5>><5=4>64==4O ?D>7D4<<4 <E?>?L7>64=<O <54<>>-5<>?>7<G5E>>= 

>>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?4E 

E?>DF<6=>= 45OF5?L=>EF< 

� ?>47>F>6>5 E?>DFE<5=4 < 6O6545=<< 57> =4 ?<> D>D<O >?NG56GN D>?L <7D45F 

F5>D<O E?>DF<6=>= FD5=<D>6><, 6>?NG4NM4O 6 E55O FD5=<D>6>G=O5 F<>?O < >E=>6O 

?5D<>4<74F<< ?>47>F>6><. % F5?LN 4>EF<65=<O <4>E<<4?L=OE D57G?LF4F>6 

E?>DFE<5=G =5>5E>4<<> 4?<F5?L=>5 6D5<O ?D55O64FL =4 GG55=>-FD5=<D>6>G=OE 

E5>D4E < GG4EF6>64FL 6 D47?<G=OE E>D56=>64=<OE (?5D65=EF64, <4FG56O5, 

?>>474F5?L=O5, >F5>D>G=O5 < 4D.). 

� 746<E<<>EF< >F 4?<F5?L=>EF< ?D55O64=<O E?>DFE<5=>6 6 <5EF4E ?D>6545=<O 

GG55=>-FD5=<D>6>G=OE E5>D>6 < E>D56=>64=<=, E>?DO65==OE E ?5D5E5G5=<5< FD5E < 
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5>?55 G4E>6OE ?>OE4, <O D5>><5=4G5< ?D<<5=OFL ?D>7D4<<O <54<>>-5<>?>7<G5E>>= 

>>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6, ?D54EF46?5==O5 =<65. 

% F5?LN >?F<<4?L=>7> ?D<<5=5=<O <5F>4>6 >>DD5>F<< =4DGL5=<= 

F<D>44<4==OE D<F<>6 6D4GG >><4=4O =5>5E>4<<> ?D>65EF< <=EFDG>F<6=>5 74=OF<5 

E> E?>DFE<5=4<<. 

 

 

7.1. $5>><5=4>64==4O ?D>7D4<<4 <54<>>-5<>?>7<G5E>>= >>DD5>F<< 

=4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?5 GG4EF<O 

6 E>D56=>64=<OE (?D>4>?6<F5?L=>EFL 4> 3-E 4=5=) 

�E?< 6 <5EF5 ?D>6545=<O E>D56=>64=<= ?D>4>?6<F5?L=>EFLN 4> 3-E 4=5= 

6>7=<>?< ?D>O6?5=<O 45E<=ED>=>74, F> E?>DFE<5=4< D5>><5=4G5FEO ?D<45D6<64FLEO 

E?54GNM5= ?D>7D4<<O ?>4 >>=FD>?5< 6D4G4 >><4=4O (F45?<F4 4)  



 

37 

&45?<F4 4 3 �D>7D4<<4 <54<>>-5<>?>7<G5E>>= >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G 

E?>DFE<5=>6 =4 MF4?5 GG4EF<O 6 E>D56=>64=<OE (?D>4>?6<F5?L=>EFL 4> 3-E 4=5=) 

�5F>4O >>DD5>F<< 

�5=L ?>E?5 

?5D55744 

1 2 3 

�5D4D<4>>?>7<G5E><5 

<5F>4O >>DD5>F<< 

$<F=5E-FD5>5DO <?< E<4DF-G4EO +++ +++ +++ 

�<7<5=4 E=4 +++ +++ +++ 

$56<< ?<F4=<O +++ +++ +++ 

$56<< 4>F<6=>EF< +++ +++ +++ 

$<7<>F5D4?56F<G5E><5 

<5F>4O >>DD5>F<< 

=4DGL5=<O F<D>44<4==OE 

D<F<>6 

%65F>-

EF<<G?OF<O 
++ ++ ++ 

�G4<>-

EF<<G?OF<O 
++ ++ ++ 

�<4D>- 

F5D4?<O 
++ ++ ++ 

�D<>E4G=4 3 3 3 

$4D<4>>?>7<G5E><5 

<5F>4O >>DD5>F<< 

�5?4F>=<= E>45D64M<5 ?D5?4D4FO, 3 <7, 

6=GFDL, 74 30 - 40 <<=GF 4> E=4 

�?< 

Z-7<?=>F<><, E>45D64M<5 �4?5??>=, 10 <7, 

6=GFDL, =5?>ED54EF65==> ?5D54 >FE>4>< >> 

E=G, G5D57 2 G ?>E?5 ?D<5<4 ?<M< 

+ + + 

�D<<5G4=<5: +++ - =4EF>OF5?L=> D5>><5=8>64=>; 

++  - D5>><5=8>64=>; 
+ - =4 GE<>FD5=<5 E?>DFE<5=4, FD5=5D4 <?< 6D4G4 >><4=8O; 

3 - =5 <E?>?L7>64FL. 

 

%>7?4E=> ?D>7D4<<5 E?>DFE<5=G: 

1) =4EF>OF5?L=> D5>><5=4>64=> E>ED4=5=<5 4><4L=57> D56<<4; 

2) =4EF>OF5?L=> D5>><5=4G5FEO ?D<<5=5=<5 D<F=5E - FD5>5D4, >>=FD>?L 

E>5?N45=<O 7<7<5=O E=4, D56<<4 ?<F4=<O < 4>F<6=>EF< =4 ?D>FO65=<< 

FD5E 4=5=; 

3) D5>><5=4G5FEO <E?>?L7>64=<5 E65F>EF<<G?OF<<, 4G4<>EF<<G?OF<<, 

7<4D>F5D4?<< 6E5 FD< 4=O; 

4) =4 GE<>FD5=<5 E?>DFE<5=4, FD5=5D4, 6D4G4 >><4=4O 6>7<>6=> ?D<<5=5=<5 

<5?4F>=<=-E>45D64M<E ?D5?4D4F>6 <?< Z-7<?=>F<>>6, E>45D64M<E 

�4?5??>= 6 ?5D6O5 FD< 4=O ?>E?5 ?5D55744. 
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7.2. $5>><5=4>64==4O ?D>7D4<<4 <54<>>-5<>?>7<G5E>>= >>DD5>F<< 

=4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?5 >D4F>>ED>G=OE 

E5>D>6 (?D>4>?6<F5?L=>EFL 4> 1 =545?<) 

� F45?<F5 5 ?D54EF46?5=4 ?D>7D4<<4 >>DD5>F<< =4DGL5=<= F<D>44<4==OE 

D<F<>6 G E?>DFE<5=>6 =4 MF4?5 E5>D>6 ?D>4>?6<F5?L=>EFLN 4> 1 =545?<. 

 

&45?<F4 5 3 �D>7D4<<4 <54<>>-5<>?>7<G5E>>= >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G 

E?>DFE<5=>6 =4 MF4?5 >D4F>>ED>G=OE E5>D>6 (?D>4>?6<F5?L=>EFL 4> 1 =545?<) 

�5F>8O >>DD5>F<< 

�5=L ?>E?5 ?5D55784 

1 2 3 4 5 6 7 

�5D4D<4-

>>?>7<G5E-

><5 <5F>8O 

>>DD5>F<< 

$<F=5E-FD5>5DO <?< E<4DF-G4EO +++ +++ +++ +++ +++ +++ +++ 

�<7<5=4 E=4 +++ +++ +++ +++ +++ +++ +++ 

$56<< ?<F4=<O +++ +++ +++ +++ +++ +++ +++ 

$56<< 4>F<6=>EF< +++ +++ +++ +++ +++ +++ +++ 

$<7<>F5D4?56F<G5E><5 

<5F>8O >>DD5>F<< 

=4DGL5=<O 

F<D>48<4==OE D<F<>6 

%65F>-

EF<<G?OF<O 
++ ++ ++ 3 3 3 3 

�G8<>-

EF<<G?OF<O 
++ ++ ++ 3 3 3 3 

�<8D>-

F5D4?<O 
++ ++ ++ ++ ++ ++ ++ 

�D<>-E4G=4 + + + 3 3 3 3 

$4D<4>>-

?>7<G5E><5 

<5F>8O 

>>DD5>F<< 

�5?4F>=<= E>85D64M<5 ?D5?4D4FO, 

3 <7, 6=GFDL, 74 30 - 40 <<=GF 8> E=4 

�?< 

Z-7<?=>F<><, E>85D64M<5 �4?5??>=, 

10 <7, 6=GFDL, =5?>ED58EF65==> 

?5D58 >FE>8>< >> E=G, G5D57 2 G 

?>E?5 ?D<5<4 ?<M< 

+ + + 3 3 3 3 

�D<<5G4=<5: +++ - =4EF>OF5?L=> D5>><5=8>64=>; 

++ - D5>><5=8>64=>; 

+ - =4 GE<>FD5=<5 E?>DFE<5=4, FD5=5D4 <?< 6D4G4 >><4=8O; 

3 - =5 <E?>?L7>64FL. 
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�D< <E?>?L7>64=<< 44==>= ?D>7D4<<O: 

1) =4EF>OF5?L=> D5>><5=4G5FEO =>L5=<5 D<F=5E-FD5>5D4, E>5?N45=<5 

?D46<? 7<7<5=O E=4, D56<<4 ?<F4=<O < 4>F<6=>EF< 6 F5G5=<5 6E5= =545?<; 

2) D5>><5=4G5FEO ?D<<5=5=<5 7<4D>F5D4?<< 6 F5G5=<5 E5<< 4=5=, E65F>- < 

4G4<>EF<<G?OF<< ?5D6O5 FD< 4=O; 

3) =4 GE<>FD5=<5 E?>DFE<5=4, FD5=5D4, 6D4G4 >><4=4O 6>7<>6=> 

?D<<5=5=<5 >D<>E4G=O < <5?4F>=<=-E>45D64M<E ?D5?4D4F>6 <?< Z-7<?=>F<>>6, 

E>45D64M<E �4?5??>= 6 ?5D6O5 FD< 4=O ?>E?5 ?5D55744. 

 

 

7.3. $5>><5=4>64==4O ?D>7D4<<4 <54<>>-5<>?>7<G5E>>= >>DD5>F<< 

=4DGL5=<= F<D>44<4==OE D<F<>6 G E?>DFE<5=>6 =4 MF4?5 4?<F5?L=OE E5>D>6 

(?D>4>?6<F5?L=>EFL 2 =545?< < 5>?55) 

�D< =4E>645=<< 6 <5EF5 ?D>6545=<O GG55=>-FD5=<D>6>G=OE E5>D>6 2 =545?< < 

5>?55 E?54G5F ?D<<5=OFL ?D>7D4<<G >>DD5>F<<, ?D54EF46?5==GN 6 F45?<F5 6. 
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&45?<F4 6 3 �D>7D4<<4 <54<>>-5<>?>7<G5E>>= >>DD5>F<< =4DGL5=<= F<D>44<4==OE D<F<>6 G 

E?>DFE<5=>6 =4 MF4?5 4?<F5?L=OE E5>D>6 (?D>4>?6<F5?L=>EFL 2 =545?< < 5>?55) 

�D<<5G4=<5: +++ - =4EF>OF5?L=> D5>><5=8>64=>; 

++ - D5>><5=8>64=>; 

+ - =4 GE<>FD5=<5 E?>DFE<5=4, FD5=5D4 <?< 6D4G4 >><4=8O; 

3 - =5 <E?>?L7>64FL.  

 

� 44==>= ?D>7D4<<5 4?O G<5=LL5=<O ?D>O6?5=<= 45E<=ED>=>74: 

1) =4EF>OF5?L=> D5>><5=4G5FEO =>L5=<5 D<F=5E-FD5>5D4 E F5?LN 

4<47=>EF<>< < >>DD5>F<<, E>5?N45=<5 ?D46<? 7<7<5=O E=4, >>=FD>?L ?<F4=<O < 

<=F5=E<6=>EF< FD5=<D>6>> 6 F5G5=<5 6E57> ?5D<>44 E5>D>6; 

2) D5>><5=4G5FEO 7<4D>F5D4?<O- 6 F5G5=<5 6E5E E5>D>6; E65F>- < 

4G4<>EF<<G?OF<O - ?5D6O5 G5FOD5 4=O;  

3) =4 GE<>FD5=<5 E?>DFE<5=4, FD5=5D4 <?< 6D4G4 >><4=4O 4>?GEF<<O ?D<5< 

<5?4F>=<=-E>45D64M<E ?D5?4D4F>6 <?< Z-7<?=>F<>>6, E>45D64M<E �4?5??>= 6 

?5D6O5 FD< 4=O ?>E?5 ?5D55744; ?>E5M5=<5 >D<>E4G=O - ?5D6O5 ?OFL 4=5=. 

�5F>8O >>DD5>F<< 

�5=L ?>E?5 ?5D55784 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 

�5D4D<4>>-

?>7<G5E><5 
<5F>4O 

>>DD5>F<< 

$<F=5E-FD5>5DO <?< 
E<4DF-G4EO 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

�<7<5=4 E=4 
++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

$56<< ?<F4=<O 
++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

$56<< 4>F<6=>EF< 
++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

++

+ 

$<7<>-
F5D4?56F<G5E>

<5 <5F>4O 
>>DD5>F<< 
=4DGL5=<O 

F<D>44<4==O
E D<F<>6 

%65F>-
EF<<G?OF
<O 

++ ++ ++ ++ 3 3 3 3 3 3 3 3 3 3 

�G4<>-
EF<<G?OF
<O 

++ ++ ++ ++ 3 3 3 3 3 3 3 3 3 3 

�<4D>-
F5D4?<O 

++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++ 

�D<>-
E4G=4 

+ + + + + 3 3 3 3 3 3 3 3 3 

$4D<4>>?>7<G5E

><5 <5F>4O 
>>DD5>F<< 

�5?4F>=<= E>45D64M<5 
?D5?4D4FO, 3 <7, 6=GFDL, 74 
30 - 40 <<=GF 4> E=4 

�?< 

Z-7<?=>F<><, E>45D64M<5 
�4?5??>=, 10 <7, 6=GFDL, 
=5?>ED54EF65==> ?5D54 
>FE>4>< >> E=G, G5D57 2 G 
?>E?5 ?D<5<4 ?<M< 

+ + + 3 3 3 3 3 3 3 3 3 3 3 
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�<5?<>7D4D<G5E><5 44==O5 
 

'�� 61:796/799 ��% 11.020 

�?NG56O5 E?>64: E?>DF, E?>DFE<5=, 444?F4F<O, 45E<=ED>=>7, >>DD5>F<O, 

?D>D<?4>F<>4.



 

 


